Proofs Involving Angles NAME:

1. £F 2 G are supplementary and «H and £F are supplementary. Complete the proof that 2G=2H.

Statement ' Reason

1| 2F and 4G are supplementary | Given
2 | £H and £F are supplementary | Given

3 mefF + meG = 180°

4 msH + msF = 180° Definition of supplementary angles

5. mzF + meG = mzH + msF | Transitive Property of Equality

6 mesG = msH Algebra SPOE

7 G =2H Definition of congruence

2. £V and £W are complementary and £ ¥ and £X are complementary. Complete the proof that £X = 2.

Statement Reason

2V and < W are complementary | Given

i £V and £X are complementary | Given

1

2
3 meV + meW = 90° Definition of complementary angles
5 i, ;

mzV + meX = 90° Definition of complementary angles

(51 maV 4+ mzW = mzV + msX | Transitive Property of Equality

6 meX = meW Algebra SPOE

7 X =W

3. «Jand £f are complementary and 27 and 2K are complementary. Complete the proof that 2K = £J.

i Statement Reason

1! 27 and I are complementary | Given

2 | <] and 2K are complementary | Given

3 med + mel = 90° Definition of complementary angles

4 mel + meK = 90° Definition of cdhplementa;'y angles

5 mel + mel = mel + meK

-6 meK = meJ

7 LK =27




4. 2Uand £8 are complementary and 25 and 27 are complementary. Complete the proof that £U/ = £T.

-

Statement

+U and £S5 are complementary

Reason

Given

25 and £T are complementary

mel + meS = 90°

Given

CmeS + maT = 90°

mzU + meS = msS + meT

melt = rh.cT

Transitive Property of Equality

.Algebra SPOE

U =4T l Definition of congruence

5. VW.LUV and XY .LYZ. Complete the proof that £UVW = £ XYZ.

| Statement Reason

4

4

VW LUV Given
XY1YZ Given

msUVW = 90° | Definition of perpendicular lines

meXyZ = 90°

meUVW = meXYZ

LUVW = ¢t XYZ

2 Wand £U are supplementary and £¥ and 21/ are supplementary. Complete the proof that £/ = 2.

Statement

<W and .U are supplementary

Reason

Given

12| 2Vand cUare supplementary

meW + mesU =180°

mzV + mzsi =180°

Given

meW + mel = meV + meU

Definition of supplementary angles

meV = mLWV

Algebra SPOE

V=W




7. UV.LTU and QR_LRS. Complete the proof that £TUV = LORS.

| Statement | Reason
1 UviTU Given
2 QRLRS Given

3] meaw=goe ||

4| meORS = 90° [

51 msTUV = mzQRS | Transitive Property of Equality

6 £TUV = £QRS

8. UV L VWand YZ L XY. Complete the proof that £XYZ = £UVW.

Statement Reason
1 Uv 1L VW Given
2 YZ L XY Given

3| meUVW = 90° | Definition of perpendicular lines

4 meXYZ =90°

L5 meUVW = meXYZ L ]

6 LXYZ = LUVW

9. zIand £G are supplementary and £G and £ are supplementary. Complete the proof that £[=/H.

Statement Reason

[

<I and £G are supplementary

2 | «G and «H are supplementary

i3 mel + mzG = 180°
4 meG + meH = 180°

51 mal+ meG = msG + meH

6 mel = meH

7 I =sH




10. £Q and £S are complementary and £ and £R are complementary. Complete the proof that £R = £5.

Statement Reason
1| «Q and S are complementary

2 1 20 and 2R are complementary

3 mzQ + msS = 90°

4 meQ + msR = 90°

‘51 mzQ + meS = meQ + meR

11. 20 and £8 are supplementary and 2 and 2R are supplementary. Complete the proof that £R = £8.

Statement Reason

F=h |

£@Q and «5 are supplementary

121 £Q and <R are supplementary

3 msQ + meS = 180°

L4 ms@ + msR = 180°

5 meQ + meS = meQ + msR

| 6 msR = mz8

7 (R =25

12. 2V and X are supplementary and £V and £W are supplementary. Complete the proof that £W=«X.

Statement Reason

1|2V and X are supplementary
. s
i
2! 2V and <W are supplementary

3 meV + mzX = 180°

mzV + mzW = 180°

mzV + msX = meV + msW




